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St. Mary’s School, Dwarka 

Holiday Homework 

Class: VIII 

Worksheet 1 

 

Subject: English 

General Instructions: 

1) The work should be done neatly and systematically. 

2) The given questions are to be done in the English notebook. 

3) Attempt all questions. 

 

No. of questions: 10           M.M. 25 

Q1. Read the following passage.                                                                

1. Transportation has come a long way since humans relied solely on walking or animal-drawn carts. 

Over thousands of years, humans have developed various means of transportation that have made travel 

faster, safer, and more convenient. 

2. In ancient times, people used simple methods to move from one place to another. Walking was the 

most common way to travel, but animals, such as horses, donkeys, and camels, were also used to carry 

goods and passengers. The invention of the wheel around 3500 B.C. was a turning point, as it allowed 

people to create carts and chariots, which made travel much easier. 

3. As civilisations advanced, so did their transportation systems. The ancient Egyptians, Greeks, and 

Romans built extensive road networks to facilitate trade and military movements. The Romans 

constructed well-paved roads that connected cities and regions, which became the backbone of their 

empire. These roads were the forerunners of modern highways. 

4. The Industrial Revolution in the 18th century marked another major advancement in transportation. 

The invention of the steam engine led to the development of steam-powered trains and boats. Railroads 

were constructed across countries, connecting cities and regions like never before. Steamships made it 

possible to travel long distances over water at greater speeds. The invention of the automobile in the 

late 19th century brought even greater change, allowing individuals to travel independently. 
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5. In the 20th century, the development of airplanes revolutionised long-distance travel. Airplanes 

made it possible to cross continents in just a few hours. The rise of mass transit systems in urban areas, 

such as buses and subways, allowed people to travel more easily within cities. 

6. Today, transportation continues to evolve with innovations such as electric cars, high-speed trains, 

and even self-driving vehicles. With advancements in technology, modern travel is becoming 

increasingly fast, efficient, and sustainable. The future of transportation holds exciting possibilities, 

including flying cars and hyperloop systems. 

Based on your understanding of the passage, answer the questions given below.      (1x5=5)                     

i. According to the passage, the invention of the wheel around 3500 B.C. was important because 

it _________________________.                                                                               (1) 

a) helped people to create roads 

b) led to the creation of carts and chariots 

c) made it easier to travel on foot 

d) allowed people to travel across the seas 

 

ii. What does the word ‘forerunner’ in the passage most likely mean?                           (1) 

a) historical figure 

b) past ancestor 

c) prior event 

d) motor vehicle 

iii. How did the steam engine contribute to the development of transportation?         (1) 

iv. According to the passage, which of the following statements is NOT true?             (1) 

a) The Romans built roads to facilitate trade and military movement. 

b) The automobile was invented before the steam engine. 

c) Airplanes made long-distance travel faster. 

d) Mass transit systems help people travel within cities.  

v. Replace the underlined word with its antonym from paragraph 6.                (1) 

 I realised that late-night studying was unproductive for me. 

Q2. You are Ritika/Rahul, residing at 45-B, Green Valley Apartments, Rohini. You recently 

attended a Science Exhibition held at Pragati Maidan and found it extremely exciting and 

informative. Write a letter to your friend Niharika in about 100-120 words, sharing your 

experience, describing what you saw there, and encouraging her to attend such events in the 

future.                                                                                                  (3) 

 



Class 8 Worksheet 1 
 

Page 3 

Q3.  Fill in the blanks with the appropriate word.                                        (½ x 4=2)  

When Meera (i) ___________ to the hill station last summer, she (ii) _________ a group of trekkers 

who (iii) ___________ up the mountain trails every morning. She (iv) ___________ to join them one 

day and had the most thrilling experience of her life. 

        i.            a. goes b. went c. had gone d. going 

      ii.            a. met b. meet c. was meeting d. meets 

    iii.            a. climb b. climbed c. climbs d. were climbing 

    iv.            a. decided b. had decided c. decides d. was deciding 

 

 Q4. Combine the two sentences into a single sentence.                                                   (2) 

i. He was injured. He continued playing the match. 

ii. They saw a tiger. They ran away immediately. 

 

Q5. Read the given extract to attempt the questions that follow.                                   (2) 

While I stand on the roadway, or on the pavements grey, 

I hear it in the deep heart’s core. 

 

i. What does the phrase ‘pavements grey’ symbolise in the poem?                               (1) 

a) beauty of the city 

b) dullness of urban life 

c) path to Innisfree 

d) poet's happy memories 

ii. What feeling dominates the poet's mood in these lines?                                             (1) 

a) joyful excitement 

 b) regret and guilt 

 c) longing and inner peace 

 d) anger at city life 

Q6. Who were the Yup’ik who settled in Newtok? (Answer in 30-40 words)               (2) 

Q7. Why did the narrator regret paying attention to the sound of footsteps in the lesson ‘The 

Night the Ghost Got In’? (Answer in 30-40 words)                                               (2)                                                                                                                                                           



Class 8 Worksheet 1 
 

Page 4 

Q8. What are the references the poet has made to touch upon the sense of sound which evokes a 

longing in him in the poem The Lake Isle of Innisfree? (Answer in 30-40 words)     (2) 

Q9. Why did the students act with such restraint in the lesson ‘The Narayanpur Incident’? 

(Answer in 40-60 words)                                                                          (3) 

Activity:  

Q10. Create a poster on an A4-size sheet illustrating peaceful ways to express patriotism. 

● Use symbols and images to promote unity and national pride. 

● Include a clear title and a short, meaningful slogan that reflects the spirit of peaceful patriotism.        

                                                                                               (2) 
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Subject: Hindi 

 

inado-Sa — 1 ide gae saBaI p``SnaaoM ko ]<ar ihndI kI ]%tr puistka maoM ilaiKe. 

   2 kaya- svacC, Sauw evaM spYT laoK maoM kIijae. 

p`Sna 1 inamnailaiKt Apizt gad\yaaMSa kao pZ,kr [sako AaQaar pr savaa-iQak ]pyau@t ]<ar 

vaalao ivaklp caunakr ilaiKe —                               (1×5=5)      

         

maha%maa gaaÐQaI ko Anausaar Asahyaaoga ka ]d\doSya bauraš kao baZ,avaa donaa nahIM hO bailk bauraš sao 

Asahyaaoga krnaa hO.Agar duinayaa bauraš kao baZ,avaa donaa baMd kr do tao bauraš Apnao ilae AavaSyak 

paoYaNa ko ABaava maoM Apnao¹Aap mar jaaegaI.Agar hma yah doKnao kI kaoiSaSa kroM ik Aaja 

samaaja maoM jaao bauraš hO¸]sako ilae Kud hma iktnao ijammaodar hOM tao hma doKoMgao ik samaaja sao 

bauraš iktnaI jaldI dUr hao jaatI hOM.laoikna hma p`oma kI ek JaUzI Baavanaa maoM pD,kr [sao sahna 

krto hOM.maOM ]sa pu~a AaOr ipta ko p`oma kI baat nahIM krta¸ ijasao ipta Apnao galat rasto pr 

cala rho pu~a pr maaoh maoM AMQaa haokr Pyaar barsaata calaa jaata hO AaOr ]sakI pIz qapqapata hO 

AaOr na hI maOM ]sa pu~a kI baat kr rha hUÐ jaao JaUzI iptRBai@t ko karNa Apnao ipta ko daoYaaoM 

kao sahna krta hO.maOM eosao p`oma kI cacaa- nahIM kr rha hUÐ.maOM tao ]sa p`oma kI baat kr rha hUÐ¸ 

jaao ivavaokyau@t hO AaOr jaao bauiwyau@t hO AaOr jaao ek BaI galatI kI Aaor sao AaÐK baMd nahIM 

krta hao.gaaÐQaI jaI ka yah sauQaarnao vaalaa p`oma hO. 

(i) maha%maa gaaÐQaI ko Anausaar Asahyaaoga ka ]d\doSya @yaa hOÆ      

³k´ bauraš kao baZ,avaa donaa 

³K´ bauraš sao Asahyaaoga krnaa 

³ga´ bauraš sao sahyaaoga krnaa 

³Ga´ ihMsaa krnaa 

(ii) duinayaa sao bauraš svayaM kOsao samaaPt hao saktI hOÆ                          

³k´ AavaSyak paoYaNa ko ABaava, maoM  

³K´ AcCaš ko ABaava maoM 

³ga´ baura[- ko p`Baava maoM 

³Ga´ AavaSyak paoYaNa ko p`Baava, maoM 

(iii) inamnailaiKt kqana³ A´tqaa karNa³R´kao QyaanapUva-k pZ,kr ]icat ivaklp ka cayana 

kIijae—              

kqana³ A´ gaaÐQaI jaI ko Anausaar p`oma ivavaokyau@t AaOr bauiwyau@t nahIM haota hO. 

karNa³ R´gaaÐQaI jaI ko Anausaar yah sauQaarnao vaalaa p`oma hO. 
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³k´ kqana³ A´tqaa karNa³ R´ daonaaoM galat hOM. 

³K´ kqana³ A´galat hO tqaa karNa³ R´ sahI hO. 

³ga´ kqana³ A´sahI hO laoikna karNa³ R´ galat hO. 

³Ga´ kqana³ A´tqaa karNa³ R´ daonaaoM sahI hOM.tqaa karNa³ R´ kqana³ A´kI galat vyaa#yaa 

krta hO. 

(iv) manauYya p`oma kI JaUzI Baavanaa maoM pD,kr @yaa krta hOÆ                                        

(v) [sa gad\yaaMSa maoM laoKk iksa p`oma kI baat kr rho hMOÆ                          

inamnailaiKt p`SnaaoM ko ]%tr dIijae—                               (1×5=5),                                                                

Pa`Sna 2 saM&a kI ivaSaoYata batanao vaalaa Sabd @yaa khlaata hOÆ           

P`aSna 3 ‘maOMnao Aaja Saor kao doKa’.Pa`yau@t vaa@ya maoM sao kaOna¹saa Sabd jaaitvaacak saM&a hO Æ                 

P`aSna 4 Aqa- ko AaQaar pr iËyaa ko iktnao Baod haoto hOMÆ ]nako naama ilaiKe.    

p`Sna 5 ‘A$Na’ Sabd ka AnaokaqaI- Sabd @yaa haogaaÆ  

p`Sna 6 ‘GaaoD,o baocakr saaonaa’mauhavaro ka Aqa - @yaa haogaaÆ 

 

p`Sna–7 inamnailaiKt p`SnaaoM ko ]%tr dIijae—                                      ³1½×2Ä3´ 

³k´ bacapna maoM laoKk Apnao maamaa ko gaa^va caava sao @yaaoM jaata qaaÆAapkao Apnao maamaa ko 

Gar jaanaa kOsaa lagata hOÆ                                  

³K´ dIvaanaaoM kI hstI naamak kivata kI kaOna ¹saI baat Aapkao AcCI lagaI ?  
Pa`Sna 8 inamnailaiKt p`SnaaoM ko ]%tr dIijae—                                   (1×2=2)                                                  

³k´ isad\Qaaqa- ka naama isad\Qaaqa- kOsao pD,aÆ  

³K´ isad\Qaaqa- nao AaEama @yaaoM CaoD,a Æ                           

p`Sna–9 saMkot ibaMduAaMo ko AaQaar pr ‘ vyaayaama ka mah%%va’ ivaYaya pr 80 sao 100 SabdaoM ka 

ek AnaucCod ilaiKe—                                                    (5×1=5) 

saMkot ibaMdu — 1 AavaSyakta  2 ]dahrNa 3 laaBa 4 inaYkYa- 

p`Sna–10 saM&a ko BaodaoM ka naama ilaKto hue ek saundr saa vaa^la hOMigaMga banaa[e. (5×1=5) 
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Subject- Sanskrit 

                                                       

inado-Sa–  1 p`d%t p`Snaanaama\ ]%trma\ saMskRt puistkayaama\ eva ilaKt. 

        2 p`Snaanaama ]%trma\ pUNa-vaa@yaona ilaiK%vaa ir@tsqaanaaina roKaMikt krNaIya. 

          3 kaya-ma\  svacCM ‚Saud\QaM evaM spYTM laoKma\ eva laoKnaIya.  

 

                                                                                                         

p`Sna 1 AQaaoilaiKtM gad\yaaMSaM piz%vaa bahuivaklpkana\ p`Snaana\ ]%trt –        ³1×5Ä5´ 

idllaI nagarma\ AtIva p`acaInama\ eoithaisakM ca Aist. Asya puratnaM naama ‘[nd`p`sqa:’AasaIt \.ett\ 

paNDvaanaaM rajyasya rajaQaanaI AasaIt\.AV%vao Aip [dM svatM~a Baartsya rajaQaanaI 

Aist.Asmaakma\ raYT/pit:¸ kond`IyaSaasanasya sava- ]nnata: AiQakairNa:¸ ivadoSaanaaM ca p`itinaiQa: 

A~a eva inavasaint.idllaInagaro Baartsya ivaivaQap`doSaanaama\ janaa: saugamatyaa d`YTuM 

Sa@yanto.idllaInagarsya p`acaInaBaaga: p`acaInaidllaI naamnaa vat-to.t~a ca ‘caaÐdnaI caaOk’¸ 

‘laalaiklaa’¸‘jaamaa maisjad’‘yamaunaa saotu’¸ ‘rajaGaaT’¸ naamakaina ca dSa -naIyaaina sqaanaaina.P`aacaIna 

idllaIBaagasyaBavanaaina p`acaInarI%yaa inaima-taina saint.t~a Baartsya saMskRit: klaa ca mauKirta 

Bavait.idllaInagarsya navaInaBaaga ‘navaidllaI’ naamnaa p`#yaat: vat -to.t~a jantu Aagaar:¸ 

ivarlaamaindrM¸ yan~aman~aM¸ kutubamaInaarM¸ ca p`isawainasqaanaaina saint.yada idllaInagaro ‘eiSayaaD 

WaSaIit:’ Aayaaojanama \ ABavat\ ̧ tsmaat\ eva Aayaaojanaat\ Asya nagarsya SaaoBaa AtIva vaRiwM gata.A~a 

ivaivaQaaina ivaSaalaaina k`IDasqaalaaina naoh$ ˗naoSanala ˗[nd`p`sqa˗ sToiDyama\ AadIina sauinaima-taina 

saint.]ccaO: pargamanapqaa: rmaNaIyaa: p`tIyanto.navaidllaInagaro maagaa-: sauivastRta: ̧ saubawa:¸svacCa: 

ca vat-tnto.ra~aaO A~a ivaivaQaanaaM p`kaSadNDanaaM p`kaSa: sava-~a SaaoBato.palamaisqatM vaayauyaanasqaanama\ 

Ait dSa-naIyama\ Aist.idllaInagarM vyaaparsya¸]VaogaanaaM ca Aip kond`ma\ Aist.At: ett\ nagarM 

Ait samaRwM¸ vaOBavapUNa-ma\ ¸manaaormaM ca Aist.        

    

³i´ BaartvaYa-sya rajaQaanaI ka AistÆ 

     ³k´ laalaiklaa 

     ³K´ rajaGaaT  

     ³ga´ kutubamaInaarma\ 

     ³Ga´ idllaI nagarma\ 

 ³ii´ ]ccaO: pargamanapqaa: kIdRSaa: p`tIyanto Æ 

      ³k´ rmaNaIyaa: 

     ³K´ Asaundr: 
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     ³ga´ Bavya: 

     ³Ga´ saMkINa-ma\ 

   ³iii´ palamaisqatM ikma\ sqaanama\ Ait dSa-naIyama\ Aist Æ 

      ³k´ basayaanama\ sqaanama\ 

      ³K´ jalayaanama\ sqaanama\ 

      ³ga´ vaayauyaanama\ sqaanama\  

      ³Ga´ rolayaanama\ sqaanama\  

   ³iv´ [nd`p`sqa: koYaama\ rajyasya rajaQaanaI AasaIt\ Æ 

      ³k´ paNDvaanaama\ 

      ³K´ yaduvaMSaanaama\ 

      ³ga´ baaOwanaama\  

      ³Ga´ kaOrvaanaama\ 

   ³v´ ‘navaInama \’ ‘prtn~a:’ [it pdyaao: ivalaaoma pdma\ ikma\ AistÆ 

      ³k´ p`vaInama\ ¸svatM~a:    

      ³K´ p`acaInama\ ¸pratn~a:    

      ³ga´ p`acaInama\ ¸svatM~a:            

      ³Ga´ p`acaInama\ ¸rajatM~a:  

p`Sna 2 ica~aM dRYT\vaa maHjaUYaayaaM p`d%t pdanaama\ sahayatyaa ir@tsqaanaaina pUryat–³½×4Ä2´  
 

maHjaUYaa =   pustkalaya: ,   pustkaina ,  ga`nqaa: ,  Ca~aa:                                    

 

           

 

³k´ Aismana\ ica~ao  ek:  ------ Aist.         
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³K´ A~a ivaiBannaaina    ------  saint.       

³ga´ ------  pustkaina pzint.                      

³Ga´ pustkalayao Anaokayaa: BaaYaayaa:   ------  saint. 
Pa`Sna 3 svakxaa AQyaapksya vaNa-naM kuva-na\ iptrma\ p`it ilaiKtM [dma\ p~ama\ maHjaUYaayaa: ]icatO: 

pdO: pUryat.            ³½×6Ä3´  

maHjaUYaa–  svaBaava:, maaQyamaona ¸ carNaspSa-  ¸ AadSa-:  ¸kuSalaM ¸ maQaur vacanama\   . 

 

 

navaidllaIt: 

itiqa:– 12•06•2025 

                                              
AadrNaIya iptaEaI 

saadr  [1]------. 

A~a M[2]------  t~aastu.Aismana\ p~ao Ahma\ inajakxaa AQyaapksya vaNa-naM kraoima.mama kxaa 

AQyaapk: Ait ivaWana\ Aist.tsya [3] ------ AtIva sarla: Aist.sa: inajaivaYayao inapuNa: 

Aist.sa: ivaiBanna ]dahrNaona [4]------ Asmaana\ pazyait.sa: iSaxaayau@ta $icakra ca kqaa 

Aip Eaavayait.sa: sadOva [ 5]------  vadit.vastut: sa: eva mama [6]------ Aist.puna: 

inajaivaYayao ivastroNa kqaiyaYyaaima.savao-Bya: nama:. 

 

Bavatama\  
gaaOrva:   

p`Sna 4 AQaaoilaiKto saMvaado maHjaUYaayaa: ]icatpdaina ica%vaa ir@tsqaanaaina pUryantu. ³½×4Ä2´                  

 maHjaUYaa–  yaanaona ,  saPtvaadnao ¸ basayaanaona ¸  kda                           

         riva: ¹  ho sauQao²  %vama\ ivaValayama\ kda gacCisa Æ 

          sauQaa –  Ahma\ p`at: [1]------  ivaValayama\ gacCaima . 

      riva:  ¹ %vama\ kona [2]------ ivaValayama\ gacCisa Æ        

      sauQaa – Ahma\  [3]------  ivaValayama\ gacCaima. 

      riva:   ¹ %vama\ ivaValayaat\  [4]------  p`%yaagacCisa Æ 
      sauQaa  ¹ Ahma\ i~avaadnao ivaValayaat\  AagacCaima. 

 

P`aSna 5 maHjaUYaayaaM p`d%tO: ]icat AvyayapdO: ir@tsqaanaaina pUryat —         ³½×4Ä2´                  

  yaqaa ¸   kit ¸  ekda ¸  p`ak\ 

 

       1  ——— vyaaQa: vanao AaKoTaya AgacCt\. 
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       2 ——— mayaa-dapu$aoYatma rama: naama rajaa AasaIt\.  
       3 ———   Qainak: tqaa saovak:. 

       4 tva samaIpo ——— puYpaiNa saint. 

        

P`aSna 6 AQaaoilaiKtoYau ir@tsqaanaoYau p`kRit p`%yayaM saMyaaojya vaa@yapUit-M ku$t–    ³½×2Ä1´        

         1  rmaa ivanaaodkiNaka ———  ( Eau † @%vaa)   ]ccaO: hsait . 

       2  saOinak: sadOva doSasya rxaa ———  ³kR † tumauna\ ´ t%pr: Bavaint.  
P`aSna 7 roKaMikt pdma\ AaQaR%ya p`SnaM inamaI-yatama\ —                                 ³½×2Ä1´                    

            ³1´ savaa-iNa p~aaiNa  caladUrBaaYayan~ao saurixtaina Bavaint. 
        ³2´ gauhayaa: svaamaI SaRgaala: AasaIt\. 

Pa`Sna 8 Sabdanaama\ AqaO-:  ilaKt —                                  ³½×4Ä2´             

          mahI$ha: ¸  jara  ¸  kga-dsya ¸  piqa 

Pa`Sna 9   ]icatpdM ica%vaa ir@tsqaanaaina pUryat —                                 ³½×4Ä2´  

    maHjaUYaa  –  prmama\ ¸ sahsaa ¸  cala ¸  Ca~aaya 
                ³k´ %vama\ ivaValayaM ………………. 

         ³K´ td\BaagadoyaM …………… pSaUnaama \. 

         ³ga´ …………… pustkma \ doih. 

         ³Ga´ ………… ivad \QaIt na ik`yaama\. 

 

Pairyaaojanaa kaya-  
Pa`Sna 10 gaIta ka ek Slaaok ilaKkr pustk icah\na banaa[e.            ³5×1Ä5´ 
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Subject: Mathematics 

General Instructions: 

1) The work should be done neatly and systematically. 

2) The given questions are to be done in the Math notebook. 

3) Attempt all questions. 

 

No. of questions: 10           M.M. 25 

Q1. State whether the following are True/False:                                  (0.5 x 4 = 2 ) 

a) Rational numbers are not closed under division, if zero is excluded, then the collection of all 

other rational numbers is closed under division. 

 b)  For any rational number a, a ÷ 0 is not defined. 

 c)  A rational number a/b is called the multiplicative inverse of another rational number   c/d if

 a/b  x   c/d= 0. 

 d)  A number which can be written in the form p/q , where p and q are whole numbers and q is 

not equal to 0 is called a rational number. 

 

Q2. Choose the correct option:                                                                               (1x2 = 2)     

i)        Which of the following is the reciprocal of the reciprocal of a rational number? 

     a)   -1                   b) 1              c)  0              d)  The number itself 

ii)       Write down the rational number whose numerator is (-3) × 4, and whose denominator is 

        (34 - 23) × (7 - 4). 

     a)   -7/34             b) -7/33          c) -12/33          d) 12/33 

 

Q3 . Name the property that is reflected in the following expression:                    (0.5x4 =2) 
a)     5/11 x  11/5 =1 
b)    24/10  x  5/6  = 5/6 x 24/10 
c)     5 +  (-5) = 0 
d)     99 x 58 = 100 x58 – 1 x 58 

 Q4. Find 4  rational numbers between 

                                                                      (2) 

 

Q5. Verify the property:   

         For  x =  -3/7 , y = 12/13 ,Z = -5/6                                                                             (2) 

Q6.  Evaluate the following using distributive property :                                                   (2) 

          ) 

Q7. Arrange the following rational numbers in ascending order and  find the difference 

        between the least and the greatest rational number  .                                (3) 

         -19/40 , 14/8 , -17/10 , 34/16 , 18/40 , -11/80 
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Q8.   Represent the following rational numbers on a number line :             (1.5 x 2 =3) 

          

a)           ,   ,   ,      b)   ,  , -    

Q9.   Find the sum using suitable property:                                                  (1.5 x 2 =3) 

(i) 4/3 + 3/5 + (-2/3) + (-11/5) 

(ii) (-8/3) + (-1/4) + (-11/6) + 3/8 

 

Activity:  

Way to home   : 

 Description:                                                                                                                         (4) 

Activity to be done on A-4 Size coloured sheet. 

Negative distance means distance in opposite direction. 

 Rohan wants to give lift to an old lady and drop her to home. Find how much distance should 

he have to cover. 

  

.  
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Subject: Science 

General Instructions 

* Neatly write the answers in a separate thin notebook.  

* Attempt the questions keeping in mind the weightage of each question.  

No. of questions: 10          M.M. 25 

 

Q1. In the figure given below, two boys A and B are shown applying force on a block. If the 

block moves towards the right, which one of the following statements is correct?    (1) 

                                 
                 

(A) Magnitude of force applied by A is greater than that of B.  

(B) Magnitude of force applied by A is smaller than that of B.  

(C) Net force on the block is towards A.  

(D) Magnitude of force applied by A is equal to that of B.  

 

Q2. Coal was formed about how many years ago?      (1)  

(A) 100 million years  

(B) 200 million years  

(C) 300 million years  

(D) 400 million years  

 

Q3. Assertion (A): Weeds are unwanted plants that grow in fields and interfere with the growth 

of main crops.  

Reason (R): Weeds can be controlled by spraying pesticides.      (1)  

(A) Both assertion and reason are true, and reason is the correct explanation of the assertion.  

(B) Both assertion and reason are true, but the reason is not the correct explanation of the 

assertion.  

(C) The Assertion is true, but the reason is false.   

(D) The Assertion is false, but the reason is true.  

  

Q4. A blacksmith hammers a hot piece of iron to shape it. Identify the type of force the 

blacksmith applies to the iron. Is this force a contact force or a non-contact force?   (2)  
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Q5. Crude oil is not used directly. Why do you think fractional distillation is important in 

refining petroleum? Explain with examples of useful products  

            (2)  

Q6. A cylindrical water tank rests on a horizontal base with an area of 2 cm
2
. The weight of the 

water in the tank is 4000 N.         (3)  

(A) The water in the cylindrical tank exerts a force on the base of the tank. What type of force 

is this? Is it a contact force or a non-contact force?  

(B) Calculate the pressure exerted by the water on the base of the tank in Pascals.  

Q7. Your city is facing high air pollution levels due to excessive use of petrol and diesel 

vehicles. Propose a scientifically informed plan to reduce pollution:          (3)  

(A) What are the harmful effects of petrol and diesel on the environment?  

(B) List and explain two clean energy alternatives for transport.  

(C) Suggest changes that individual can make to reduce fuel consumption.  

Q8. In the given picture, two methods of irrigation are observed. Identify the type of irrigation 

system being used. Compare and analyze which of the two methods should be practiced in a 

region with uneven land.          (3)  
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Q9. A farmer used three different types of tools for tilling the soil in three different fields. The 

farmer records the time taken to complete tilling in each field using different tools. (1+1+2=4)  

Field  Tools  Time taken  

A  Plough  8 hours  

B  Hoe  6 hours, 30 

minutes  

C  Cultivator  2 hours  

   

A. Which tool/ tools should the farmer use to till his field?  

B. After a few months, it was observed that all the fields had the same productivity despite 

using different tools. What is the likely reason for this?  

C. What are the benefits of using a cultivator for tilling the soil in comparison to the plough?   

Q10. Objective: To analyze real-world data on petrol consumption in a major Indian city and 

understand the effects of urbanization, policy changes, and transportation habits on fuel 

demand.  

The following table shows the annual petrol consumption (in million litres) in a major Indian 

city from 2016 to 2022, reflecting growing urbanization and changes in transportation habits.      

(1+1+2+1=5)  
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(A) Plot the petrol consumption for each year on a graph, using the year on the X-axis and 

consumption in million litres on the Y-axis.  

 

(B) Examine your graph:  

1. Is there a general increase, decrease, or fluctuation in petrol consumption over the years?  

2. Analyze the overall trend in petrol consumption.  

(C) Identify any unexpected dips or unusual spikes in consumption. Research and suggest 

two possible real-world reasons behind these fluctuations.  

(D)Based on the pattern in your graph, estimate what the petrol consumption might be in 

2025.  
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Subject: Social Science 

General Instructions:                                                                                                            

• The work should be done neatly and in a systematic way. 

• The given assignments are to be done in the History and Geography notebook. 

• Mention the number of worksheets while doing the work. 

• Write all the questions along with the answers. 

                

Q1. How has historian APJ Taylor described history?                                                      1 

Q2. What is a constitution?                                                                                               1 

Q3. From which country’s constitution the concept of Directive Principles of state Policy 

       adapted in the Indian Constitution?                                                                          1 

Q4. Make a G.O. of the different literary Sources of the modern period.                      2 

Q5. What was the problem with the periodization of Indian history that James Mill made?  2 

Q6. Write any two reasons to explain the importance of the Constitution.                    2 

Q7. Differentiate between natural and human made resources.                                        2 

Q8. Explain the factors that gave rise to the Indian National Movement?                     3 

Q9.  Which Fundamental Rights will the following situations violate?                            3 

 i) If a 13 years old child is working in a factory manufacturing carpets. 

   ii) If a politician in one state decides not to allow labourers from other states to work in his 

     state. 

   iii) If a group of people is not given permission to open a Telugu medium school in Kerala. 

Q10. Why is conservation of resources necessary?  

          List any two methods to conserve them.        3 
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Project based Activity Geography                                                                                       5 

  Environmental Protection and Air Quality 

Guidelines: Submission Format: 

• Activity should be done neatly in geography notebook only; typed notes will not be 

accepted. 

• Learners should clearly write the headings for each part. 

• Photos should be pasted clearly. 

Objectives: Learn about air quality issues, government policies, personal responsibilities, and 

take action to improve air quality. 

Activity Instructions: 

Research Air Quality Initiatives: 

 Research and write a short report on at least two current or proposed ways or government 

policies aimed at improving air quality in your city. 

● Include the name of the policy/initiative 

● Describe how it works 

● Mention who is responsible for implementing it 

 Learn About PUC (Pollution Under Control) Certificate 

 Answer the following: 

 a. What is a PUC Certificate? 

 b. Why is the PUC Certificate important? 

 c. What is the test required to obtain a PUC Certificate? 

PUC Certificate Example 

 Request a family member or relative to show you their four-wheeler’s PUC certificate. Paste a 

clear photo or scan of the certificate in your notebook. (Make sure vehicle details like number 

plates are blurred or covered for privacy.) 

Green Action: Air-Purifying Plants 

 Plant air-purifying plants such as Sansevieria (Snake Plant) or other recommended varieties in 

and around your home. 

 a. Take photos of you planting the saplings. 

 b. Paste the photos in your notebook or create a collage. 

Reflection 

 Write a short report about: 

● How planting air-purifying plants can help improve air quality. 

● How you plan to care for the plants in the future. 
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Subject: Computer Science 

General Instructions: 

• The work should be done neatly and in a systematic way. 

• The given assignments are to be done in the Computer Science notebook. 

 

Find the output of the following program code.       (2x5=10) 

1.  Num1=125  Num2 = 450 

Read Num1 

Read Num2 

if Num1>Num2 then 

   print("Num1 is greater") 

else 

   print("Num2 is greater") 

2. marks = 45.5 

Read marks 

if marks > 70 then 

   print("Good Work") 

else 

   print("Satisfactory") 

3. 

age=20 

if age>=12 AND age<=19 then 

   print("You are a teenager") 

else 

       print("You are an adult") 

4. 

Shop=650 

Customer="new" 

if Shop<200 OR Customer="old" then 

   print("Eligible for discount") 

else 

      print("Not Eligible for discount") 

5. 

userid="operation" 

password="flood@7" 

if userid="operation" OR password ="FLOOD@7" then 

   print("Match Successful") 

else 

      print("Match Not Successful ") 
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6. What is a loop? Differentiate between Counting and conditional loop.    3 

7. Define conditional statement? Draw a flowchart to explain the conditional statements.  3 

8. Why is AND operator different from OR operator? Explain with an example.   3 

9. Choose the correct option.          3 

i) Which of the following logical operators returns True only if both of its operands are True? 

(a) OR  (b) AND  (c) NOT  (d) XOR 

ii) Consider the statement: "If it is raining, then the ground is wet." Which of the following  

     scenarios makes this statement False? 

(a) It is raining, and the ground is wet. 

(b) It is not raining, and the ground is dry. 

(c) It is raining, and the ground is dry. 

(d) It is not raining, and the ground is wet. 

iii) Consider the following conditions: 

Condition X: The number is greater than 10. 

Condition Y: The number is even. 

Which of the following numbers satisfies the condition "Condition X” AND “NOT Condition Y"? 

(a) 12  (b) 15  (c) 8  (d) 20 

10. Mention any three benefits of using loops.        3 

 

Activity: 

Note:  

❖ Open the MS Word document and list all the practical questions. 

❖ Capture a screenshot (snip) of the MakeCode Arcade programming workspace along with 

the game simulator. 

❖ Paste the screenshot below each corresponding practical question. 

❖ Save the document as a PDF file. 

❖ Upload the PDF under the ASSIGNMENT section in Microsoft Teams. 

 

Design a block code programming using MakeCode Arcade for the following questions.  

Practical 1: Using AND operator, check that the entered number lies within the range 10 to 20. 

Practical 2: Using OR operator, check if the fruit is either an apple or an orange. 
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Subject: Elementary Mathematics 

 

General Instructions: 

1) The work should be done neatly and systematically. 

2) The given questions are to be done in the Math notebook. 

3) Attempt all questions. 

 

No. of questions: 10           M.M. 25 

Q1     Choose the correct option :                                                       (1x 4) 

(i) Which number is the successor of 69999                     

     a)   26349      b)   9999        c)   70000    d)   99999               

(ii) Which number is the predecessor of 29998                                  

a)   29997      b)  99999           c)   72159     d)  29999                                                                                                                    

(iii)  Which Roman numeral is correct for 49 

  a)  XCIX     b)  XLIX          c)   LXVIII      d)  XL  

(iv) Which Hindu-Arabic numeral is correct for LXV 

  a) 60       b)  70             c)  65            d)  90 

Q2     Write the numerals:                                                                  (1×3) 

   I.              Eighty two thousand five hundred sixty two 

 II.             Seven hundred twenty three thousand five  hundred ninety two 

  III.             Eight million two hundred six 

Q3      Write the successor and predecessor of these numbers.         (1×3) 

   I.           ---------     399999       --------- 

 II.           ---------   7000001     --------- 

 III.           ---------  3590000     ---------- 

Q4      Write the numbers in its expanded form.                                (1×2) 

   I.          1,92,732 

 II.          30,063 

Q5    Arrange the following numbers in the ascending order:           (2×1) 

612856;   721612;   92936;   121579 

Q6    Arrange the following numbers in descending order:               (2×1) 

3125261;  1321570;   1321750;   213261 

Q7     Write the following numbers in Roman numerals:                  (1×2) 

   I.          99 

 II.           67  

Q8     Write the following in Hindu- Arabic numerals:                  (1×2) 

   I.            LXXIV  

 II.            LIX 
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Q9 Write the smallest and the greatest possible numbers using        (1x2) 

       each of the digits only once: 

   I.          6,3,9,8,1,0 

 II.          8,0,5,2,1,3,7 

 

 Activity: 

Q10 Collect contact numbers of your 5 family members and            (3x1) 

        Rewrite the numbers in the international system. 

  

     


